


Swing Fall  

Obstructions  



Lanyards  
ÅMeasure from anchor point  

ÅFormula ð LL + DD + HH + C = 
RD  
ÅLL= Lanyard Length  

ÅDD= Deceleration Distance  

ÅHH= Height of Suspended 
Worker (Including Harness 
Stretch)  

ÅC= Safety Factor  

ÅRD= Required fall clearance  

ÅConservative calculation   



Measurement uses 

anchorage point 

as the starting 

point  

Deceleration is 

maximum 

amount per 

lanyard  

D ring slide and 

harness stretch 

included in Height 

of worker  

     This formula works 

regardless of where 

the anchorage point 

is located -overhead , 

shoulder level, or 

foot level.  

6õ+4õ+6õ+1.5õ= 17.5õ 

LL+DD+HH+C=RD 



Å Self Retracting Devices (SRDõs) 

(Class B) 

ÅMeasured from working surface  

ÅMost  SRDõs  use 6 ft. as the 

required fall clearance distance  

Å RD= TFD+HS+C = 3.5õ+1õ+1.5õ= 6õ 

 
Swing falls will add to required 

clearance. As you swing below 

anchor point, you get closer to 

the level below.  PENDELUM  



ANCHORS 

BODY SUPPORT 

CONNECTORS 

DESCENT/RESCUE 


